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1. An account earns compound interest at an annual effective rate of 10% during years 1 - 2, at an annual effective
rate of 3% during years 3 - 5, and at an annual effective rate of 7% during years 6 - 10. Find the effective annual
rate of interest earned by the account over the entire 10-year period.

6.37% B) 6.18% C) 6.56% D) 6.75% E) 6.94%
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2. An account earns simple interest at an annual rate of 14%. Let I, denote the annual effective rate for year z. Find

the earliest year for which i, <6%.
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3. Bernie borrows 2200. The loan is charged simple interest at an annual rate of 19% and is repaid at the end of 22
years. Find the annual effective rate of interest that Bernie paid on the loan during the 22-year period.

[A)776% B) 706% ©) 730% D) 7.5% E) 8.00%
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4. An amount of 1200 is deposited into a fund that earns interest according to the accumulation function

2
a (l‘ ) =¢*"" . The accumulated value of the account at the end of year 7 is 1958.78. Find the annual effective

interest rate during the first 3 years.

3.05% B) 295% C) 3.14% D) 323% E) 332%
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5. Att=0, Anna invests 200 into an account earning simple interest at an annual rate of 8%. Her effective rate of
interest during year 4 is equal to i.

Also at £ = 0, Dan invests 800 into an account crediting compound interest at an annual rate of ;. What is the value
of Dan's account after 8 years?

1319 B) 1161 C) 1200 D) 1240 E) 1280
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